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MATHEMETICAL METHODS Units 3 and 4

CAf 2 - Facts and Skills Task - SECTION B - ANSWERS & SOLUTIONS

( a.)

(b)

2.rj + :z - 8-t -

=  , 2 1 2  + I ) ,
=, (2-r + I )(.r'� -
= (2.r + l)(.r -

4

4 (2.r + 1)
4 )

2) ( r  +  2 )

/ r  =  100 /  -  1012  =  - l 0 r ( r  -  10 )

f 1 : : ) = 1 / t t : - t 2 . - t
Hence - / ( r )  = r2 -  t . r  +  l

=  ( . . .  I  i ?

6 x t + 5 - r j - 6 r ?
= .12(6.\2 . 5r - 6)
= -r ' � (3r 2)(2.r + 3)
= r.r(3.r - 2)(2.t.  3)

( i ) Loc: i  in i r t  i rn u rn poir t t
r rrC .r ' - intercept l / (  I )  =

0l
Sta t i onan 'po i r t t  o i
i n f l ex ion

( a ) .A verage veloc i t l 'over  f i rs l

sec. = (250-0)/(5 -0) nls
= 50 nr/s

1 0 0  1 0 1

\ \ i r e n i = 0 .  ! 1  =  r o t
dt

Hence i ; t i i i : l  veloci iy '  = 100 n' , i  s

Fc r  f i r s t  q r ran i l e  Q .  P r (Z< : )  =  0 .25
Hence  P r (Z> : )  =  0 .7  5
Hence  ( f ro rn  11o i . ) ,  :  =  -0 .5 , ; j

Hence  Q ,  =  1 /5  -  0 .67 - i5x l2  c ; . ; i
=  156 .906  cn r

For third quar i i le Qr,  Pr(Z<:.)  = 0.15
Hence ( from table),  :  = 0.61!5
Her t ce  Qr  =  175  -  0 .67 -15  x  l 2  cm

= 183 .091  cm

Hence inter-quani le range
=  183 .094  -  166 .906  cm
= I6  cn r  ( t o  nea res t  cm)

,. u,
dt

(b )

( i r )


